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 Autograph Activity

The Area under a Straight Line Graph


	
[image: image2.wmf] On paper sketch the graph of y = −x + 3 and shade the area between: the x-axis, the graph and the vertical lines through x = 1 and x = 2.

	
[image: image3.wmf] Calculate this shaded area
	
[image: image4.wmf] Area = 
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 On a new (Advanced) Autograph page . . . [image: image6.png]


 Add Equation y = −x + 3
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 Edit the axes so that both the x and y axes are from –0.5 to +3.5
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 Attach a point to the graph precisely at (0,3) and another at (1,2)
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 Return to ‘select’ mode and select both points

      Right Click and choose ‘Find Area’ from the menu

(Confirm (bottom left) the value 2.6 in the table below:
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[image: image11.wmf] Complete the other shaded boxes above as follows:
‘Double click’ at one of the rectangles in the area from x = 0 to x = 1

Change to ‘rectangle(+)’ and OK – note the effect and add 2.4 to the table 

Select only the point at (1,2) and use the keyboard arrow to move to (2,1)
Complete the above table – including the ‘all important’ final column!

	Finally – use either ‘rectangle(-)’ or ‘rectangle(+)’ with 500 divisions (instead of 5) to confirm the last column in your table!
You might like to experiment with other equations?
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with 5 ons: 1.6

Graph of
y=-x+3

(B Equation 1-y=-x+3







[image: image13.bmp][image: image14.bmp][image: image15.bmp]










































© alan@catley.org
18/09/08
60AreaLin

_1093334230

_1092804722

